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QUESTION 1

The NetApp E-Series system with a 32 Gb FC Host Interface Card (HIC) requires which type of fiber cable to connect to
switches or to connect directly to hosts extending up to 100 meters?

A. OM4
B. OM3
C. OM1
D. OM2
Correct Answer: B

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2773537

QUESTION 2

What is the minimum number of drives needed to create a Dynamic Disk Pool?
A 12

B. 8

C.3

D.11

Correct Answer: D

Reference: https://www.netapp.com/us/media/tr-4652.pdf (5)

QUESTION 3

A customer has an E5760 array with a 30-drive Dynamic Disk Pool (DDP) that uses 800 GB SSD drives. The customer
needs to expand the pool by one drive but has only a 1.6 TB SSD drive available.

In this scenario, what happens when the customer attempts to add the 1.6 TB drive to the existing pool?
A. The pool is expanded by 1.6 TB

B. The pool is expanded by 1.6 TiB

C. The pool is expanded by 800 GB

D. An error occurs, and the add fails

Correct Answer: A
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QUESTION 4

Where would you find the version of the driver and firmware for QLogic HBAs that are supported by NetApp E-Series
systems?

A. Interoperability Matrix Tool
B. SANtricity Admin Guide

C. Hardware Universe

D. QLogic download webpage

Correct Answer: D

QUESTION 5

An orphaned volume occurs during an asynchronous mirror implementation. You must recover the orphaned volume.
In this scenario, which statement is correct?

A. Remove the mirroring relationship on the orphan, then re-create the mirroring relationship

B. Suspend mirroring operations on the orphan, then resume operations

C. Deactivate the mirror consistency group that contains the orphan, then re-enable the group

D. Perform a role change on the orphan, then re-create the mirroring relationship

Correct Answer: A

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1394847
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